

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 October 2008 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License# 3532	API No. 15 - 191-20187-0001
Name: CMX, Inc.	Spot Description:
Address 1: 1551 N. Waterfront Parkway, Suite 150	SE _SE _SW Sec. 18 Twp. 35 S. R. 4 East ✓ West
Address 2:	330 Feet from North / South Line of Section
City: Wichita State: KS zip: 67206 +	
Contact Person: Douglas H. McGinness II	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 269-9052	□NE □NW □SE □SW
CONTRACTOR: License # _5822	County: Sumner
Name: Val Energy, Inc.	Lease Name: Hyena OWWO Well #: 1980'
Wellsite Geologist:	Field Name: Wildcat
Purchaser: Coffeyville Resources/Atlas Gas	Producing Formation: Mississippi
Designate Type of Completion:	Elevation: Ground: 1247 Kelly Bushing:
New Well Re-EntryWorkover	Total Depth: 5462 Plug Back Total Depth:
✓ Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at: 259 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set: Feet
Dry Other (Core, WSW, Expl., Cathodic, etc.)	If Alternate II completion, cement circulated from:
If Workover/Re-entry: Old Well Info as follows:	feet depth to:w/sx cmt.
Operator: Quintin Little	
Well Name: Wolff #1	Drilling Fluid Management Plan OWWO AH I N/L (Data must be collected from the Reserve Pit) 10-5-09
Original Comp. Date: 3/13/1970 Original Total Depth: 5460	Chloride content: ppm Fluid volume: bbls
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used:
Plug Back: Plug Back Total Depth	
Commingled Docket No.:	Location of fluid disposal if hauled offsite:
Dual Completion	Operator Name:
Other (SWD or Enhr.?) Docket No.:	Lease Name: License No.:
8/22/2008 8/25/2008 6/1/2009	Quarter Sec TwpS. R
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workover or c of side two of this form will be held confidential for a period of 12 months if rectiality in excess of 12 months). One copy of all wireline logs and geologist we BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 for	
are complete and correct to the best of my/knowledge/	the oil and gas industry have been fully complied with and the statements herein
Signature:	KCC Office Use ONLY
Title: President Date: 9/23/2009	
23001	Letter of Confidentiality Received
Subscribed and sworn to before me this day of	, If Denied, Yes Date: RECEIVED Wireline Log Received KANSAS CORPORATION COMMIS
$\frac{0}{20}$ $\frac{0}{1}$ $\frac{1}{1}$	
Notary Public:	Geologist Report Received SEP 2 8 2009
Date Commission Expires: 2/7/2012	010 Distribution
	CONSERVATION DIVIS WICHITA, KS

Side Two

Operator Name: CMX	K, Inc.		Lease	Name: H	lyena OWW	0	Well #: 198	30'
Sec. 18 Twp. 35			Count	_{y:} <u>Sum</u>	ner			
NSTRUCTIONS: Sho me tool open and clos ecovery, and flow rate urveyed. Attach final	sed, flowing and shu s if gas to surface te	t-in pressures, whethe st, along with final cha	er shut-in pres	ssure read	ched static level,	hydrostatic p	ressures, bottom	hole temperature, fluid
Orill Stem Tests Taken	heets)	☐ Yes 📝 No			og Formation	ı (Top), Deptl	n and Datum	Sample
(Attach Additional Sheets) Samples Sent to Geological Survey Cores Taken Yes		☐ Yes 🗸 No			e		Тор	Datum
					ner		3180	-1933
Electric Log Run (Submit Copy)		Yes No	Yes ✓ No KC				4152	-2905
				Cher	okee		4460	-3213
ist All E. Logs Run:				Miss	issippi		4678	-3431
			Arbuckle			5420	-4173	
			NG RECORD	✓ Ne				
Purpose of String	Size Hole	Report all strings s Size Casing	We	eight	Setting	Type of	# Sacks	Type and Percent
Surface	Drilled	Set (In O.D.) 8 5/8	Lbs	. / Ft.	Depth 259	Cement already s	Used	Additives
Production	7 7/8	5 1/2	15.5#	· · · · · · · · · · · · · · · · · · ·	5462	Class A	200	3% cc 2% gel
		ADDITION	AL CEMENT	ING / SQL	JEEZE RECORD	I		
Purpose: Depth Typ Perforate Top Bottom Protect Casing Plug Back TD		Type of Cement	#Sack	s Used		Туре а	and Percent Additive	s
Plug Off Zone								
Shots Per Foot		ON RECORD - Bridge Footage of Each Interval					ment Squeeze Reco	rd Depth
1	5058-5060, 5034-504	2, 4961-4974, 4918-494	42, 4909-12, 4	1890-4896	2000 gals	15% MC	CA	
					83,000 # 20/40 sand + 6000# rock salt			ck salt
							MANICAC	RECEIVED CORPORATION COMMIS
TUBING RECORD:	Size:	Set At:	Packer	Δ+-	Liner Run:			SEP 2 8 2009
2.7		4774	racker		I -	Yes	No CO1	NSERVATION DIVISI WICHITA, KS
Date of First, Resumed F	Production, SWD or Enl	nr. Producing N	Method:	Flowin	g 🔽 Pumpir	ng 🗌 Ga	es Lift Oti	ner (Explain)
Estimated Production Per 24 Hours	0il 3 5	Bbls. Gas	Mcf	Wat 25 0		bls.	Gas-Oil Ratio	Gravity
DISPOSITIO	N OF GAS:		METHOD O	F COMPLE	ETION:		PRODUCT	ION INTERVAL:
Vented Sold	Used on Lease	Open Hole Other (Specify)	Perf.	☐ Dually	y Comp. Cor	nmingled		



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax: (78:

(785) 483-5566

BIII) To:

CMX, Inc.

1551 N. Waterfront PKW STE #15

Wichita, KS 67206

INVOICE

Invoice Number: 115754

Invoice Date: Aug 24, 2008

Page: 1

CustomerID	Well Name## or Oustoner (20).	Paymen	(Terms
CMX	Hyena OWWO #1	Net 30	Days
Job Location	©amp Location	Service Date	Due Date
KS1	Medicine Lodge	Aug 24, 2008	9/23/08

Quantily	(Cem)	Description	Unii Price	Amount
200.00	MAT	Class H Premium	16.75	3,350.00
19.00	MAT	Gyp Seal	29.20	554.80
22.00	MAT	Sait	12.00	264.00
13.00	MAT	Cla Pro	31.25	406.25
94.00	MAT	FL-160	13.30	1,250.20
1,000.00	MAT	Mud Clean	1.27	1,270.00
1,000.00	MAT	Kol Seal	0.89	890.00
263.00	SER	Handling	2.40	631.20
60.00	SER	Mileage 263 sx @.10 per sk per mi	26.30	1,578.00
1.00	SER	Wash Down, Production	2,295.00	2,295.00
60.00	SER	Mileage Pump Truck	7.00	420.00
1.00	SER	Head Rental	113.00	113.00
1.00	EQP	AFU Float Shoe	529.00	529.00
1.00	EQP	Latch Down Plug	462.00	462.00
7.00	EQP	Turbolizers	79.00	553.00
2.00	EQP	Baskets	186.00	372.00
			RECEIVED	HECHAN
		KA	NSAS CORPORATION COMM	NOOIUN
			SEP 28 2009	
			JEI 20 2003	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

Sep 23, 2008

Subtotal	CONSERVATION DIVISION	14,938,45
Sales Tax	WICHITA, KS	941.12
Total Invoice Amount		15,879.57
Payment/Credit Applied		
TOTAL		45,970,57

ALLIED CEMENTING CD., LLC. 34247

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67	665	6-24		ERVICE POINT: Medici N 8-25	
SEC. TWP.	RANGE	CALLED OUT	ON LOCATION	N JOB START	JOB FINISH
DATE 8-24-08 18 355		2:30 PM	3:30 PM	COLDIEN	1:00 Am
LEASE WELL# 1	LOCATION HUFFER	4. KS. 1/25.36	= 3/28/140	COUNTY	STATE
OLD OR NEW (Circle one)	N Frto	////			
CONTRACTOR VAI #3		OWNED	CAX T.		
TYPE OF JOB WAS h Down, Produ	v+11	OWNER	CMX, Fre		
HOLE SIZE 77/4" I.	D. 5,460'	CEMENT			
CASING SIZE 5/2" 15.5"DI	EPTH 5,464	– AMOUNT (ORDERED 2005	SX class H+10	360P+108
	EPTH	SAI+ +5	ORDERED <u>2003</u> #Kol-Seal/SK	+.58FL-16	0, 1364 61
	EPTH	1,000 GA	L. mudele	A~	
TOOL D	ЕРТН				
PRES. MAX 2000 M	INIMUM 100	_ COMMON		@	
	HOE JOINT 35.61'	POZMIX		@	
CEMENT LEFT IN CSG. 35.61'		GEL		@	
PERFS.		CHLORIDE	3	@	
DISPLACEMENT 130/2 BbL	2 % KCL NAKI	ASC		@	
EQUIPMEN	- 10	200	Н	@ 16.75	3350.
EQUI MEN	1	Ques	seal 19	@ 29.20	
		- 150	lt 22	@ 12.00	264.0
PUMPTRUCK CEMENTER Tho		- Ola P	10 13 gl.	@ <u>31.25</u>	
# 360 HELPER Gry K	• · · · · · · · · · · · · · · · · · · ·	- F1-1	60 94 ×		
BULK TRUCK		M. JC	lean 1000 x		1270.1
# 364 DRIVER MATT	T. LACCYT. X.	- Kols		@ 189	890.
BULK TRUCK	, ,		CHL 1000		
# DRIVER		- HANDLING	3 263	@ 2.40	631, 2
			60 x 263>	•	1578.6
	Dis Placed 4	PUMP TRU EXTRA FO MILEAGE MANIFOLI	CK CHARGE _ OTAGE	@	2295,0 420,0
CHARGE TO: CMX, IN	·C ,	- I CHR W.	/ (/*(@	2828,
STREET			•	IOIAI	<u> </u>
CYTY CTP ATTE		51/2"			
CITYSTATE	ZIP		PLUG & FLO	OAT EQUIPMEN	NT
		A.C. J.C.		10500	2 2 - 2
		f	ttshoe		0 <u>529.0</u>
		<u> </u>	WN Plug	1 @ 462.00	
To Allied Cementing Co., LLC.		Turbali		7 @ 17.00	2 553.6
You are hereby requested to rent co	ementing equipment	BASKets		<u>Z</u> @ <u>186.00</u>	1_5/2.0
and furnish cementer and helper(s)	-			@	
contractor to do work as is listed.					1011
done to satisfaction and supervisio				TOTAL	19/6.1
contractor. I have read and unders	_	,			
TERMS AND CONDITIONS" list		CATTOTAL	X (If Any)	Y	
	N .	TOTAL CH	ARGES	CD GRAN	(4)
PRINTED NAME XPreston	Drieling	_ DISCOUNT		IF PA	ID IN 30 DAYS
SIGNATURE	2/	_	WILLBE	ICABLE TA CHARGED VOICING	X